
10115 10115.5 10116 10116.5 10117
cyclenum

1

1.5

2

2.5

3

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

3.5−

3−

2.5−

2−

1.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

8000

8000.5

8001

8001.5

8002

8002.5

8003

8003.5

8004

ru
n

run:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8002}



10115 10115.5 10116 10116.5 10117
cyclenum

69.5−

69−

68.5−

68−

67.5−

us
l_

1X
usl_1X:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

4−

3.5−

3−

2.5−

2−us
l_

4a
Y

usl_4aY:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4

us
l_

4e
X

usl_4eX:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

21

21.5

22

22.5

23

us
l_

4e
Y

usl_4eY:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

38−

37.5−

37−

36.5−

36−

us
l_

12
X

usl_12X:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

8000

8000.5

8001

8001.5

8002

8002.5

8003

8003.5

8004

ru
n

run:cyclenum {run == 8002}



10115 10115.5 10116 10116.5 10117
cyclenum

118.5−

118−

117.5−

117−

116.5−

us
r_

1X

usr_1X:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

us
r_

4a
Y

usr_4aY:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

170

170.2

170.4

170.6

170.8

171

171.2

171.4

171.6

171.8

172

172.2

us
r_

4e
X

usr_4eX:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

17

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

us
r_

4e
Y

usr_4eY:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

40.5−

40−

39.5−

39−

38.5−

us
r_

12
X

usr_12X:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

8000

8000.5

8001

8001.5

8002

8002.5

8003

8003.5

8004

ru
n

run:cyclenum {run == 8002}



10115 10115.5 10116 10116.5 10117
cyclenum

16248.6

16248.8

16249

16249.2

16249.4

16249.6

16249.8

16250

16250.2

16250.4

16250.6

16250.8

us
l_

co
il1

usl_coil1:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

2271.6

2271.8

2272

2272.2

2272.4

2272.6

2272.8

2273

2273.2

2273.4

2273.6

2273.8

us
l_

co
il3

usl_coil3:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

5062

5062.5

5063

5063.5

5064

us
l_

co
il4

usl_coil4:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

2783−

2782.5−

2782−

2781.5−

2781−

us
l_

co
il6

usl_coil6:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

4647.6

4647.8

4648

4648.2

4648.4

4648.6

4648.8

4649

4649.2

4649.4

4649.6

4649.8

us
l_

co
il7

usl_coil7:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

8000

8000.5

8001

8001.5

8002

8002.5

8003

8003.5

8004

ru
n

run:cyclenum {run == 8002}



10115 10115.5 10116 10116.5 10117
cyclenum

14296.8−

14296.6−

14296.4−

14296.2−

14296−

14295.8−

14295.6−

14295.4−

14295.2−

14295−

14294.8−

14294.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

1962.4−

1962.2−

1962−

1961.8−

1961.6−

1961.4−

1961.2−

1961−

1960.8−

1960.6−

1960.4−

1960.2−

us
r_

co
il3

usr_coil3:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

6043.6

6043.8

6044

6044.2

6044.4

6044.6

6044.8

6045

6045.2

6045.4

6045.6

6045.8

us
r_

co
il4

usr_coil4:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

2924.5−

2924−

2923.5−

2923−

2922.5−us
r_

co
il6

usr_coil6:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

31907

31907.5

31908

31908.5

31909

us
r_

co
il7

usr_coil7:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

8000

8000.5

8001

8001.5

8002

8002.5

8003

8003.5

8004

ru
n

run:cyclenum {run == 8002}



10115 10115.5 10116 10116.5 10117
cyclenum

122−

121.5−

121−

120.5−

120−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

11.5

12

12.5

13

13.5

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

210.6

210.8

211

211.2

211.4

211.6

211.8

212

212.2

212.4

212.6

212.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

223−

222.5−

222−

221.5−

221−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

23.8−

23.6−

23.4−

23.2−

23−

22.8−

22.6−

22.4−

22.2−

22−

21.8−

21.6−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

216.5

217

217.5

218

218.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8002}



10115 10115.5 10116 10116.5 10117
cyclenum

298

298.2

298.4

298.6

298.8

299

299.2

299.4

299.6

299.8

300

300.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

111−

110.5−

110−

109.5−

109−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

39.5−

39−

38.5−

38−

37.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

278

278.5

279

279.5

280

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

134.5−

134−

133.5−

133−

132.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

31.5−

31−

30.5−

30−

29.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8002}



10115 10115.5 10116 10116.5 10117
cyclenum

240−

239.5−

239−

238.5−

238−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

85.5−

85−

84.5−

84−

83.5−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

2.5−

2−

1.5−

1−

0.5−12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

509−

508.5−

508−

507.5−

507−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8002}

10115 10115.5 10116 10116.5 10117
cyclenum

8000

8000.5

8001

8001.5

8002

8002.5

8003

8003.5

8004

ru
n

run:cyclenum {run == 8002}
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